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= ~ Kase Tractor Company allows its divisions to operate as autonomous units. The operating data for 2011 follow:

Plows. . Tractors Combines
Revenues $2,250,000 $500,000 | $4,800,000
Accounts receivable 800,000 152,500 1,435,000
Operating assets ' 1,600,000 400,000 1,750,000
Net operating income 220,000 60,000 480,000
Taxable income 165,000 | 90,000 385,000

Required:
(I)Corr-lpute the investment turnover for each division. (4 4-)
(2)Compute the return on sales for each division (4 %)
(3)Compute the return on investment for each division. (4 4°)
{4YWhich division managér is doing best? Why? (4 4
(5)What other factors should be included when evaluating the managers? (4 4-)
(For parts (2) and (3) income is defined as operating income.)

w3 ~ The Airways Company is planning a project that is expected to last for six years and generate annual net cash inflows of
$75,000. The project will require the purchase of a $280,000 machine, which is expected to have a salvage value of
$10,000 at the end of the six-year period. In addition to annual operating costs, the machine will require a $50,000
overhaul at the end of the fourth year. The company presently has a 12% minimum desired rate of return.
Based on this information, an accountant prepared the following analysis:

Annual net cash inflow : $ 75,000

Annual depreciation $45,000

Annual average cost of overhaul 8.333 (53.333)
Average annual income ‘ $21,667

Return on investment = $21,667 =+ $280,060 = 7.74%

The accountant recommends that the project be rejected because it does not meet the company's minimum desired rate of
return. Ignore income taxes. :

‘Required:
(1)What criticism(s) would you make of the accountant's evaluation? (64-)
(2)Use the net-present-value method and determine whether the project should be accepted. (84)
(3)Based on your answer in Requirement "2," is the internal rate of return greater or less than 12%? Explain. (64")
(Note : Present Value of a Series of $1 Cash Flows

Periods 12%

1 0.893 .
2 1.690
3 2.402
4 3.037
5 3.605
6 4.111
7 4.564
8 4.968
9 5.328
10 5.650

% ~ Explain following terminologies (@44 » #204)
- (1).Backflush costing
(2).1.ean accounting
(3).Business Process Reengineering
(4).Throughput costing
(5).Budget slack



